=gl T s = = H TR bl = 3 MEES Z r ZIEEHELL S ) Z

2023% % BENELEE BT URR—L BED EMEHE- AR e e e
47 BT EST] Bz 5H AT EST] Bz 6 H AT ESE] Bz 7H AT =1 Bz 8H AT ES] Bz 94 =& mE
B || % gspd|wean| FEEETERL N g g ] pha|na| “Egan | | & [m]%E gsha|wa| FEEETERL ) gl sha|nna| “F5 a0 | || || E psha|wea| FEEETERL N g @ pep| | B E BT
e BB ~6H) 1Al HES e HPAGE 112 PETTTE
218 PRI B 21 P = 2 | K 2 | £
318 3 | K% 3|t 318 3| K 3| H
41K 4 | K 41 H 4 1K 4 1% 41 8
5 | K 5 | £ 518 5 | K 5 | £ 5 | k&
6 | K 6 | £ 6 | X 6 | K 6 | H 6 | K
A ES 1 E R 718 7 | K A ES 718 7 | x|
8 | £ 8| A 8 | K 8 | £ = 8 | & 8 | &
918 9 |k 9 [ & 918 9 [k ST B 9 [+ EBEEAS
10| A 7K 10] £ 10| A lEHE 10] K FRHFA 10| B BEEKRS
1] K PN E: 11] B 11| K : 11|l £ W B -#REF A 11| B
12 | K £ | 12| A 12 | K 12| £ 12|
13| K B B BESEH PTARS 13| 13 | K |#&3 13| B 13| 7K
14| £ B 14| 7K 14| £ | 14| B 14| K
15| £ Al A 15 | K 15 | £ |#3 PTAZ LIEE 15| k& 15 &
16| B Pq 16 | & 16| B 16 | K 16| £
17| B 7K 17] £ 17| B 53 171 K 17| 8
18 | K P 18] B 18 | X [ 18| & 18| B HEDH
19 | K £ 19| A 19 | K 19| £ 19| &
20| K + 20 | & 20 | K |5EE IPHRER 20| H 20 | /K
21| & B 1 21] K 21| & B EKE(~8/31) 21| A 13 21| K
22| & A hREE 2| K 22| & 22| & 2| £
23| B Pq hREE 23| £ KREZBEENR) 23| B 23| K 23| £
24| B 7K 24| £ 24| A1 &) — 4 B 24| K 24| B
25|k N E5 25| B 25| X 25| & 25| A
26 | 7k e B 26| A HREE 26 | K 26| & 26 | K
271 K + B ERiaE 27 | K HXEE 27| K 27| B 271 K
28| & =] B S RRK 28 | 7K HEREE 28| & 28| A IBER(-) 28| K
29| £ A 29| K 29| & 29 | B#& 29| &
30| B PR E 30| & 30| B 30 | Kk IBZ(9-94) 30| £
_____________________ 7k o 31| B 31| K o
: —————— L_Ei@_:____%";g____: ___Fﬂ__l____i_'%___.a :- ————— .: E_@_I____iﬂﬁ____l e — e — - - —l——--%'_ﬁ__——l | A F. A —E——I—___i_“'%__—-l :- ----- _:_%I-_@_.:._-__i_'ﬁ____:
EESWER | _ 3 i ____ 0O ___4 o8 L ____O0____, / ¥BHEE,_ 10 _,____0____y (EBE®EH, _3_______0 ____ y JFEREBE 12, ___O0____, _FE®REBH,__8 _,____0____
| RERER 8 i _ _ _ 0 ___. v RBRER 0 3 _ ____0____ o WBREE 8 _ 0 _ 0 ____v W WRBE®EH L _T7_ o ____ 0 ____ o RESER 8 _ o ___0___ _ 1 CoLHRBE®WEBRL 4 _ o ___0___
| SE BB E 1 1 1.8 1 1 #DIV/0! | I FAFEHERTSI 1 #DIV/0! I I FAEBERTYI 1 #DIV/0! I I FAEHERTHI 1 #DIV/0! I I FAEHEBTSI 1 #DIV/0! 1
VraEmEaTs =1 __ " 23 _ __ 1 Tdem@smEs__——_ _ _#DIV/0L _ "1 TkEEEmEES __—_ T~ _ #DIV/OI_ _ _! 'RezmEdwsl__——"1 _ 7 #0NV/0I _ _ ' Tkesdemws__——1" _ _#DIV/0L _ _ 1 TkREmmmES__—— 1 _ _ #Dv/or_ _ !
10R FHiE =i wE 118 ETE EHE % 12R FHE S % 1R FHE =& e 28 EtE S e 3A EtE S s

—Taz (K& - B - BER —Taz (K& - B - BER —T ez (K& - 7 - BERT —T ez (K& - 7 - BERT —T ez (K& - 7 - BERT == (K& - 157 - BRI
B | B *= wza| S| KEe Heetc) B | E K& L] Lisdin] 3= Heetc) B | BE *= wEa| e KEe Heetc) B | BE *= s 151 Bl s | Heetc) B | BE *a s 151 Bl s | Heetc) B | E *o wEa| e | hEe Heetc) EAKER
118 1 [l ER 1 [HE EEE 1 1A 1 [HES EE HEIEE FER EHE
2 | A 1 2 | K|EE 2 | X 1EE 2 |k 1 2 | £ 1S 2 | £ 1EE
3 |k i FEER 32 |e= 3|8 i 3 | K i 3 [ £ &= 38 1 92
4 | Kk 1 hRiER 4 | + s 4 | B 1S 4 | KIS 4|1 B 1 4 | B 1S
5 | A g 5 | B 1 5 | k5T 5 | &g 5 | A &S 5 | kK I#EE e
6 | & |@gE 6 | AIHE 6 | 7k 1 6 | £ |@E 6 |k 1 6 | K 1 BRARD
lEd 7 [k |EE AEICE 78 i 7 [k i AES i BRARD 0
8| H 1 8 | K 1 8 | & |EE 8 | A &S BADA 8 | & 1 RES 1 BEYE
9 | AIEE ARy DB 9 [ X 1 9 | £|X£ FMBIRRS 9 | kT kR 9 1% 1 9 | X2 KBC# K BH®ER
INMPAEE 10| £ 1 EiT /=D 10| BIXE SUMEIEAS 10 | 7k 1 10| £ 1 10| BlXE KBCHF ETE
11 ] 7k 1 11| £ 1 e o) 11| B 1 11| RS 11| 8 1 BEEGLZOH 11| A 1 BEFE
RAES i 2] & i 12| & |@&= 2] % &= 2] B i REKA 12| X |g= FEET 65
13| & 1 13| A |1&HE [ 13| K 1 13| £ &S 13| K 1 BERES 13| K 1 BEFE
14| £ 1 BYRIIATAN 14| K &S 14| K |EE 14| B 1 14 | K 1 BEXRER 14| R g2 EX
15| B 1 15 | 7k 1 15| £ 8 15| A IS 15 | KA g8 BERESR 15| £ |8
16 | A &= KK 16 | K |5 16 | + |43 16 | X 453 16 | £ &8 16 | + |5 O
17 | KBS 17| & |BE 17| B 1 17 | K 1 17 | £ J&E 17| B 1
18 | 7k 1 18| £ lg=E 18 | A & 18 | A lgE 18] B 1 18| A |58
19| K |#&E 9[ A 1 19 | K RE 19| & |IRE 19| A |&E 19 xEE thE BB Et
20| & |8HE 20| H 1 20 | JK 1 20| £ s 20 | A JHEE 20 | K 1 E50AH ETE
21| £ J4&E PTAZ{LIEE 21| & 1 BIEN 21| B 1 hEy—S %A 21| k 1 21 | A s
2|8 i 22 | 7k i 2| % |&= 2| A |&= 2 [ & |@E= 2| % &= BT H
23| A |HE 23| K 1 RO E 23 | X |EE 23 | k| EE 23| & |gE XEHER 23| £ 1 BEIRA(~4/7)
24 | ki JiE@E 24| & 1 24| B 1 24 | 5k 1 24| & JiEgE 24| B 1 EH
25 | Xk 1 25| £ 1 25| A |#HE 2F RS 25 | K |[iEE 25| B 1 25| A 1S
26 | K Ji@E 26| B 1 26 | ki J#gE K FARE(~1/8) 26| £ igE 26| A 1&E 26 | Xk MEE 0
27| & |EE 2711 B 1 HEREE 27 | Kk iEE 27| £ |iEE 27| K |EE 27| K 1
28|  JiE@E HAKRS 28 | X 1 PEREE 28 | K JigE 28| B 1 28 | JK 1 28 | K|z
2| R 1 HAKRS 29 | 5k 1 PxREE R IES 1 2| B JigE 20| K 1 29| 2|8
30| A JEE 30 | K JiaE 30| & 1 30 | i JsEE 30| £ 1
PAEE T 31| B 1 31| Jk I I I 31| A ]
| I E.@-l----%--- [________;'l'_@_:____%"-%___-' _____ a1 E_'H:'_ ___%‘-%____ L_E_@_L___% _____ [________E_E__l____%“ﬁ___q | .I_E-I-[:I_J.____%ﬂ_’%____l
CEESRER 8 i _ 0_ ____ v FBES®ER 18 L, ___0___ _ o CEEWEB 5 0 0 ____v 2 FB®EH 7 ____ 0 ____ o FES®EB 10 L, __0__ _ _ o FEWEB L 7T 0 ___0___
= E-1= 6 1 0 [N N=E - T= 6 1 0 11 RKBA&KREBR 5 1 0 11 KBKREBR 4 1 0 11 RKBRKRER 5 1 0 11 RBA&KREBR 6 1 0 1

1 1 1



